
Problem E

Cross Country Race

The organizers of the world championship in interval start
cross country have made a fatal blunder. It is impossible
to pass the person in front of you anywhere along the race
tracks. If one person catches up with the one that started
before him/her, they will have to stay together for the rest
of the race.

This is obviously no just way of declaring a world
champion, so the organizers decide to only record the times
of the people who reach goal without someone right in front
of them. The rest will run another race (when they have
rested), to decide their race time.

The danger of this setup is that you will have to arrange too many races. Given the
length of the race, and the speeds of the participants, how many races will they need to
arrange?

In the race, there is one minute between each starter, in the order given in the input.
In subsequent races, the relative order between the participants is the same, but their
starting times will be adjusted so that it is still exactly one minute between each start.

Input specifications

The first line of input contains a single number T , the number of test cases to follow.
Each test case begins with a line containing two numbers, N , the number of participants
in the championship, and S, the length of the race, in meters. Then follow a single line
containing N numbers v1, v2, ..., vN , the speeds of the participants in the order they will
start the race, given in meters/minute.

Output specifications

For each test case, output a line containing a single number, the amount of races that will
have to be arranged.
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Notes and Constraints

• 0 < T ≤ 100
• 0 < N ≤ 1000
• 0 < S ≤ 50000
• 0 < vi < 1000
• For the purposes of this problem, each participant is considered a single point.
• A participant can reach the exact point of the previous starter, but not pass it.
• For the purposes of this problem, a participant has someone right in front of them

if and only if they are at the exact same point, and he did not start first of them.
• The relationship between the distance s, the velocity v and the time t can be

expressed as s = v ∗ t.

Sample input

2

5 100

20 20 20 20 20

4 2000

100 200 300 350

Output for sample input

1

3
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